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Appendix Six
Data Editing Guidelines
 

Data Editing Guidelines

This appendix provides guidelines that are to be used during secondary editing. The guidelines offer detailed instructions on handling inconsistencies in the data. You should refer to these guidelines whenever you see an unfamiliar error message. It is imperative that you follow the guidelines: They will improve the quality and flexibility of your data and ensure that your survey is comparable to other MICS6 surveys.

The guidelines below are listed in ascending order of error message number. Each error message in the editing application has a four-digit number. The first position is equal to 0 if the message concerns the Household Questionnaire, 1 if the message concerns the Questionnaire for Individual Women, 2 if the message concerns the Questionnaire for Children Under Five, 3 if the message concerns the Questionnaire for Children 5-17, 4 if the message concerns the Questionnaire for Individual Men, and 9 if the message is not specific to a particular questionnaire type.

Immediately after the error message number is an alphanumeric code that identifies the type of the message. The two possible types of error message are:

E
An inconsistency discovered during editing that must be resolved

M
An inconsistency discovered during editing that must be checked but not necessarily resolved.

Following the error message number and type is the text of the error message. In case error message is applicable for the same inconsistency that can be found in Questionnaire for Individual Women or questionnaire for Individual Men, both error message numbers will be indicated along with the same error message text. Similar approach is used for inconstancies applicable for both Questionnaire for Children Under Five and Questionnaire for Children 5-17.
On the line below the error message number, type and text are the guidelines for correction. In general, the MICS approach in CAPI surveys is to look for inconsistencies during data collection and correct most of them on the spot, while interview is still being conducted. During secondary editing, any remaining, complex inconsistency is thoroughly investigated and, when appropriate, corrected.
Household Questionnaire

Message 

Number
Code
Description

0071
M
The spouse in row %s of the head of household in row %d should be of the opposite gender from head %s

The head of household and her/his spouse are generally of opposite genders. If they are not, check for names of both household head and his/her spouse. If you cannot resolve the problem, leave the data unchanged.

0090
E
Level and grade of education inconsistent

The highest grade completed at a particular level must be less than or equal to the maximum grade at that level. Check if an error may have occurred in the form in which the answer was recorded. For example, the interviewer may have recorded the total number of years of schooling rather than the grade at the reported level. For example, if the reported level of education is secondary, the response to the highest grade should range between 01 through 11. If the response recorded for the grade is 13, this is probably a mistake due to treating primary vocational education as grades 12 through 13 or secondary vocational education as grades 12 through 15. In this case the grade should be changed to 02. Finally, if there is an individual questionnaire for this household member, you can try to resolve the problem by checking the values recorded in individual questionnaires.

If the inconsistency cannot be resolved by any of the methods above, change the number of years of schooling to 97 (inconsistent).

0091
E
Current level of education (ED10A=%02d) greater than highest level (ED5A=%02d)

The household member’s current level of education (ED10A) cannot exceed his/her highest level of education (ED5A). If the values on the questionnaire are inconsistent, check the values of ED16A (if applicable) and values in the individual questionnaires (if there is an individual questionnaire for this household member). If you cannot use this information to resolve the problem, set ED5A equal to ED10A unless it is clear that ED10A is incorrect; in this case, set ED10A equal to ED5A.

0092
E
Current grade of education (ED10B=%02d) greater than highest grade (ED5B=%02d) 

If a household member’s current and highest level are the same, his/her current grade of education should not be more than one grade higher than her highest grade attended.  If there is a difference between maximum grade and current grade, try to resolve the inconsistency by examining variables ED16B (if applicable) and individual questionnaire (if the household member has an individual questionnaire). If you cannot use this information to resolve the problem, set ED5B equal to ED10B unless it is clear that ED10B is incorrect; in this case, set ED10B equal to ED5B.

0093
E
Previous year's level of education (ED16A=%02d) greater than highest level (ED5A=%02d)

The household member’s level of education last year cannot exceed his/her highest level of education attended. If the values on the questionnaire are inconsistent, check the values of ED10A (if applicable) and individual questionnaire for this household member (if the household member has an individual questionnaire. If you cannot use this information to resolve the problem, set ED5A equal to ED16A unless it is clear that ED16A is incorrect; in this case, set ED16A equal to ED5A.

0094
E
Previous year's grade of education (ED16B=%02d) greater than highest grade (ED5B=%02d) 

If a household member’s previous year’s and highest level are the same, his/her previous year’s grade of education should not be more than one grade higher than his/her highest grade attended. . If there is a difference between grade and the previous year’s grade, try to resolve the inconsistency by examining variables ED10B (if applicable) and corresponding variables in individual questionnaires (if the household member has an individual questionnaire). 
If you cannot use this information to resolve the problem, set ED5B equal to ED16B unless it is clear that ED16B is incorrect; in this case, set ED16B equal to ED5B.

0095 
E
Previous year's education (ED16A/B=%02d/%02d) greater than current year (ED10A/B=%02d/%02d)
If a household member’s previous year’s and current level are the same, his/her previous year’s grade of education should not be higher than his/her current grade. During editing, try to resolve the inconsistency by examining variables ED5, ED10 and ED16. If you cannot resolve the inconsistency, set ED16B equal to 97 (inconsistent).
0096 
E
Previous year's education (ED16A/B=%02d/%02d) lower than current year (ED10A/B=%02d/%02d) minus one 
If a household member’s previous year’s and current level are the same, his/her previous year’s grade of education should not be lower than his/her current grade minus one. During editing, try to resolve the inconsistency by examining variables ED5, ED10 and ED16. If you cannot resolve the inconsistency, set ED16B equal to 97 (inconsistent).
0097
E   Current level/grade of education (%s/%s=%02d/%02d) equal to highest grade (%s/%s=%02d/%02d), which is reported to be completed (%s=%d)
If a household member’s current year’s and highest level are the same, his/her current year’s grade of education should not be the same as his/her highest grade attended, if that grade was reported to be completed. If there is a difference between grade and the previous year’s grade, try to resolve the inconsistency by examining variables ED10B (if applicable) and corresponding variables in individual questionnaires (if the household member has an individual questionnaire). 

If you cannot use this information to resolve the problem, set ED5B equal to ED16B unless it is clear that ED16B is incorrect; in this case, set ED16B equal to ED5B.
Questionnaire for Individual Women

1002/4002

W
Age of woman (WB2=%02d) and age in household different (HL6=%02d)

The age of the woman in variable WB2 and her age in the household schedule (HL6) should generally be the same. If there are two or more eligible women in the household, each of the individual questionnaires should be checked to ensure that the correct questionnaire has been entered. If it is confirmed that there are no errors related to the women’s line number, data should be left unchanged. 
1003/4003

E
Age of woman and her date of birth inconsistent

The age calculated based on the month and year of birth of the respondent (question WB3) must be equal to the respondent's age in completed years (question WB4).
In resolving inconsistencies in the calculated and reported ages, it may be necessary to consider other information in the MICS household and individual questionnaires including:

· The age recorded for the respondent in the household listing (HL6)

· The number of live births in the woman's birth history (BHLN-BH10)

· The date of birth of the respondent's first child (the first entry in row 1 for BH4)

· The age at first union (MA9) and date of first union (MA8)

If, after reviewing all other relevant items of information, the inconsistency cannot be resolved, there are two ways of correcting the data.  If the inconsistency is 1 year, correct the year of birth if the month is given; otherwise correct the age.  If the inconsistency is greater than 1 year, choose the age or date of birth, whichever appears more correct (i.e., is most consistent with other pieces of information).  If the age is chosen, change the year of birth to 9997 and the month to 97.  If the date of birth is chosen, change the age to 97. 
Note that in many cases, the difference between the calculated and reported ages will not be large.  Often the error occurs because the respondent reported her age at her next birthday (especially if the date is close to the interview date), rather than at her last birthday.


EXAMPLES:


1.  Her birth date recorded in WB3 was May 1971, indicating that the respondent was 31 years old at the time of the MICS interview in August 2002.  However, her age as recorded in the individual questionnaire and in the household schedule was 32 years.  Both the birth date and the age are consistent with the date of first union (July 1992) and date of birth of her first child (August 1994).  To resolve the inconsistency between the birth date and the age response, change the age reported in her individual questionnaire (WB24 to 31.  Do not change the age as recorded in the household schedule.

2.  Her birth date recorded in WB3 was March 1970, indicating that the respondent was 32 years old at the time of the MICS interview in September 2002.  However, her age as recorded in the individual questionnaire and in the householdlchedule was 42 years.  The respondent also reported that she was 17 years old when she first married, that she has had five children, and that her first child was born in June 1979.  The latter responses are more consistent with current age of 42 years than 32 years (e.g., if the respondent was 32 years at the time of the interview, she would have only been 9 years old at the birth of her first child).  The year of birth (WB1) should therefore be changed to 9997 and the month to 97.

1004/4004 

W
Woman's month of birth (WB1M=%02d) different from household month of birth (HL5M=%02d)

The month of birth of the woman in variable WB1M and her month of birth in the household schedule (HL5M) should generally be the same. Similar as in message 1002 if there are two or more eligible women in the household, each of the individual questionnaires should be checked to ensure that the correct questionnaire is being entered. 

 1005/4005 

W
Woman's year of birth (WB1Y=%04d) different from household year of birth (HL5Y=%04d)

The year of birth of the woman in variable WB1Y and her year of birth in the household schedule (HL5Y) should generally be the same. Check if the correct individual questionnaire was entered. If there are no errors, leave the data unchanged.
1011/4011

W
School attendance different in household (%s=%01d) and women's questionnaires (%s=%01d)

Information about school attendance in variable WB5 and her reported information on school attendance in the education module of household questionnaire (ED4) should generally be the same. Check if the correct individual questionnaire was entered. If there are no errors, leave the data unchanged.
1012/4011

W 
Woman's level of education different in household (%s=%01d) and women's questionnaires (%s=%01d)

See messages 1011/4011.

1013/4011

W
Woman's grade of education different in household (%s=%02d) and women's questionnaires (%s=%02d)

See messages 1011/4011.

1014/4014

E
Level and grade of education inconsistent

The highest grade completed at a particular level must be less than or equal to the maximum grade at that level. During editing, this inconsistency must be resolved. Check if an error may have occurred in the form in which the answer was recorded. For example, the interviewer may have recorded the total number of years of schooling rather than the number of years at the reported level. For example, if the reported level of education is secondary, the response to the highest grade should range between 01 through 11. If the response recorded for the grade is 13, this is probably a mistake due to treating primary vocational education as grades 12 through 13 or secondary vocational education as grades 12 through 15. In this case the grade should be changed to 02.
If the inconsistency cannot be resolved by any of the methods above, change the number of years of schooling to 97 (inconsistent).
1015/4015
W
Woman's completion grade/year different in household (ED6=%01d) than her questionnaire (WB7=%01d
See messages 1011/4011.
1063/4063

E
Date of birth (WB1=mm/yyyy) is out of range with respect to the interview date (mm/yyyy), range=mm/yyyy-mm/yyyy

A respondent must be between 15 and 49 completed years to be eligible for interview.  Depending on the date of interview, this translates into a minimum and maximum possible date of birth for the respondent.  Occasionally a date of birth recorded is outside of this range.
Check that all information relating to the date of birth of the respondent are correct as in message 1003.
If the date of birth is one month before the minimum date of birth, and the age of the respondent is recorded as 49, then change the month of birth of the respondent to the month following.  This will ensure consistency of information, without dropping the respondent from the sample.
If the respondent was clearly born outside of the expected range, then the respondent should be dropped from the sample due to ineligibility.  Correct the age and eligibility in the household schedule to reflect the correct age of the respondent, and delete woman questionnaire.  

1064/4064

W
Month of birth (WB1M=n) inconsistent with other information: cmc=cmc-cmc [mm/yyyy-mm/yyyy]

If the year of birth was not recorded, but the month of birth was given, the editing and imputation program will attempt to correctly calculate the year of birth from other information provided in the questionnaire.  In some cases, after constraining the date of birth using all other available information, the month of birth proves to be inconsistent with the constrained date.  This message is often accompanied by message 9921.
If the month of birth is truly inconsistent with the other available data, no correction is necessary, as the month of birth will be ignored in the imputation of the respondent's date of birth.  However, if the month of birth is believed to be correct, then the information used to constrain the date of birth will need to be modified to avoid the inconsistency.  In general, it is better to assume that the month of birth is not correct, and allow a new month of birth to be imputed.

1173

W
BirthHist:  Child n is (BH6) x years old in birth history but (HL6) y years in household

The age of the child given in the women's questionnaire (BH6) is different from the age of the child in the household questionnaire (HL6).

Check that the line number given in question BH8 refers to the correct child in the household schedule by checking the name and sex of the child referred to.  If BH8 refers to the wrong child, correct BH8.

Check the age of the child in BH6 and the age given in the household schedule.  If neither is obviously wrong, make no changes to the child's age in either questionnaire.

1182

W
BirthHist: Child n has different mother in household (HL12=n, mother’s line=n) 

According to the child's line number in the household schedule given in BH8, and referring to the mother's line number in question HL12 of the household schedule for that line, the mother's line number differs from the line number of the respondent (who is reporting the child as one of her children).

Check that the line number given in BH8 refers to the correct child in the household schedule by checking the name (BHLN), age (BH6), and sex (BH3) of the child cited.  If BH8 refers to a different child, correct BH8 accordingly.

Using the line number of the mother cited in HL12 in the household schedule, check that woman's birth history in her individual questionnaire. If she does not list that child as hers in her birth history, then she cannot be the mother of the child.

Finally, check that the child is not listed as the child of another respondent in the household.   If the child is listed in another respondent's questionnaire, try to determine which woman is the natural mother of the child. Also determine whether the child is truly the same in both questionnaires, or if they are different children who just happen to have the same name (or birthday).

1184

E
BirthHist: Child n with HH#/BH8=n has already been referenced by this woman

There cannot be two separate entries in the woman's birth history that refer to the same child from the household listing.  Each child listed in a woman's birth history gives the child's line number as listed in the household schedule for column BH8.  If the child does not live with the mother, then BH8 should be zero (0).  However, if the child does live with the mother, then the line number given for BH8 can only be used once.

Check that the line number given in question BH8 refers to the correct child in the household schedule by checking the name, age and sex of the child referred to. Correct BH8 for the child that was incorrectly coded.

1185

W
BirthHist: Child with HH #n not found in woman's birth history

In the household schedule, a child was listed stating the respondent as his or her mother, but that child is not listed in the birth history of the respondent.
Check each entry in the birth history, reviewing the name (BHLN), age (BH6) and sex (BH3) of each child to see if they are listed in the household schedule. For each child listed in the household schedule, ensure that question BH8 is referencing the correct child. Conversely, check all women's questionnaires to see if any of the women in the household claims this "orphaned" child as her own. It could be that the mother is the stepmother to the child, and therefore not given in her birth history. Any living children in a woman's birth history who is not found in the household schedule should have BH8 set to 00.

1200
E
BirthHist: Child n with HH #/BH8=n is also referenced in woman #n's questionnaire

The child's line number given in BH8 was also recorded as the child of another woman. 
Check the line numbers given in BH8 for the two individual questionnaires where the same child was recorded. Check also the household listing by checking the name, age and sex of the child referred to.  Correct BH8 for the child that was incorrectly coded.
Review the procedures for message 1182 for additional help in resolving the error.

1301
E
Special answers inconsistent

The source of the weight information can be special (that is, equal to 9) if and only if the child’s weight is equal to ‘Don’t know’ (9.998) or is ‘Missing’ (9.999). If the weight is equal to 9.998 or 9.999, set the source equal to 9. If the source is special and the weight is a valid value, set the source equal to 7 (inconsistent).

1401
W
According to DOB (%02d/%04d) and DOM (%02d/%04d), woman less than age %02d when married

No woman should be married before she is born and generally should not be married before the country- specific minimum age at first marriage (though the latter is possible). During editing, if the marriage was before the minimum age at first marriage but after the woman’s date of birth, do nothing else. However, if the marriage was before the woman was born, set MA8M equal to 97 and MA8Y equal to 9997.
1802/3802 
W
E 
Maximum age at last sex (WB4-SB3N=%02d) less than age at first sex (SB1=%02d)

The woman’s maximum age at last sex (her current age minus her years since last sex when SB3U = 4) cannot be less than her age at first sex. Check SB1 and SB3 for data-entry errors and correct any that you find. If no such errors were made, set SB3U equal to 9 (special) and SB3N equal to 97 (inconsistent).

1951 E Never had sexual intercourse (SB1=%1d), but has been in union (MA1=%1d) or lived with a man (MA5=%1d)  
The respondent reported that she has been in a union, or lived with a man, but has never had

sexual intercourse. Check for keying errors, but if none are found, make no correction to the

data.
Questionnaire for Children under Five

2002/3002

W
Age of child (AG2=%02d) and age in household different (HL6=%02d)

The age of the child in variable AG2 and her/his age in the household listing (HL6) should generally be the same. If there are two or more under-fives in the household, each of the under-five questionnaires should be checked to ensure that the correct questionnaire is being entered. Occasionally the wrong line numbers are written in the information panel of the questionnaires. If this is the case, the line numbers should be corrected and the questionnaires reordered and the order corrected.

2003/3003

E
Age of child and date of birth inconsistent

A child’s date of birth and her/his age should be consistent. Check other dates on the child’s questionnaire (for example, the dates on which BCG and Polio 0 were given) and see if age, date of birth or date of interview is clearly inconsistent. If this method does not resolve the inconsistency, you must resolve it using one of the methods listed below. The methods are listed in order of precedence, meaning that you should try them in the order in which they are listed, stopping when the inconsistency has been resolved.

If the child’s day, month and year of birth are all provided, set the child’s reported age equal to the calculated age. If the day of birth is invalid and the month of birth and month of interview are the same and the child’s reported age (AG2) is one year smaller than her calculated age, leave the data unchanged. If month and year of birth are provided (and the situation above does not apply), change the reported age to equal the calculated age. If only year of birth is provided, set the child’s year of birth equal to 9997.
2004/3004

E
Line number of caretaker (UF6=%02d) must be the same as in the household (HL9=%02d)

The line number of the child’s caretaker must be the same in the Questionnaire for Children Under Five (UF6) and the Household Questionnaire (HL15). Determine which line number is correct by reviewing the Household Listing, particularly variables HL3-HL6, HL12 and HL14. Correct whichever line number is incorrect.
2005/3005

W
Month of birth of child (AG1M =%02d) different from month of birth in the household listing (HL5M=%02d)

The month of birth of the child in variable AG1M and her/his month of birth in the household schedule (HL5M) should generally be the same. As in message 2002 if there are two or more under-fives in the household, each of the under-five questionnaires should be checked to ensure that the correct questionnaire is being entered. If no errors were made, leave the data unchanged.
2006/3006 

W
Year of birth of child (AG1Y=%04d) different from year of birth in the household listing (HL5Y=%04d)
The year of birth of the child in variable AG1Y and her/his year of birth in the household schedule (HL5Y) should generally be the same. Also, check if the correct questionnaire is being entered. If no errors were made, leave the data unchanged.
2704

E
Date of vaccination is earlier than next vaccine in series

Certain vaccinations (for example, polio) are actually a series of several vaccinations. The dates of the vaccinations in the series must be consistent. For example, the date of a child’s third polio vaccination cannot be before the date of her/his second polio vaccination. 

Look for recording errors on the questionnaire.. If this does not resolve the inconsistency, set the day, month and year of the most inconsistent vaccination equal to 97, 97 and 9997, respectively. In the example below, it is clear that the date of the Polio 3 vaccination is inconsistent. In this case, it is possible to correct the year from 2007 to 2008; had this not been possible, the day, month and year would have been set equal to 97, 97 and 9997, respectively.
	Polio 1
	Polio 2
	Polio 3
	DPT 1
	DPT 2
	DPT 3

	28012008
	27032008
	01052007
	27032008
	24042008
	04062008


2705

W
Date of vaccinations are different

In most countries, polio and DPT vaccinations are given together and the dates of the vaccinations are the same. Look for recording errors on the questionnaire as for message 2702. If the vaccinations appear to have been given on different dates, the data should be left unchanged.

Corrections should only be made when there is overwhelming evidence that a mistake has been made. In the table below, for example, it is clear that the year of the DPT2 vaccination should be changed to 2008.

	Polio 1
	Polio 2
	Polio 3
	DPT 1
	DPT 2
	DPT 3

	16062008
	08082008
	13092008
	16062008
	08082009
	13092008


General Error Messages and Interval Editing Between Events
9900
E
Date of interview impossible

The date of interview must be a valid date: The day must agree with the month and year, and the date must be earlier than the current date and later than the date of the start of the survey. Check that the date of interview specified on the questionnaire has been correctly recorded; if not, make necessary change. If the questionnaire is a Household Questionnaire, compare the date of interview to the date of interview for any individual questionnaires in the household. If the questionnaire is an individual questionnaire, compare the date of interview to the date of interview for the Household Questionnaire and any other individual questionnaires. If no such comparison questionnaires exist, compare the date of interview to the dates of interview for other households in the cluster and to the fieldwork dates for that cluster. Correct the error using one of these sources of information and your judgement.
9901
E
Interval between birth and first union inconsistent: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], interval=n

The respondent's age at first union should not be less than a certain minimum, usually 10 years. In some countries, this minimum may need to be changed to a lower value, perhaps 8 years, while others may have laws restricting marriage to older ages, and a higher limit may be used.  The term marriage is used here to mean married or living together in union with a partner.  A few women in each country will truly have married earlier than the minimum age, but most cases are incorrect and should be corrected.
Errors in the woman's age at her first union may arise from two sources:

· The respondent's birth date and/or age (3 and 4) are incorrect.

· The date of first union and/or age at first union (MA8 and MA9) are incorrect.


To resolve inconsistencies in the age of the respondent at her first union, all of the information relating to each of the above items must be examined carefully, including her birth history, in addition to the date of birth, age of the respondent, her date of first union, age at first union, and date of interview. 
If the date of union seems to be incorrect, and the date of birth and date of birth of the first child all appear consistent, then change the year of first union and/or the age at first union to code 9997/97 as necessary.
However, if the date of first union appears consistent with the date of birth of the first child and the date of birth of the respondent is in conflict with the date of first union and the date of birth of the first child, then the date of birth of the respondent needs to be corrected.
If it is not possible to find the correct date of birth and age, change the date of birth (and age) of the respondent to be consistent with the sum of the age of her first child (or the number of years since her first birth if the child is dead) plus one year.  In addition, the age of the respondent at first union should be set to code 97.

In the examples below, DoI=date of interview, DoB=date of birth, AgeU=age at union, DoU=date of union, FCDoB=first child's date of birth.

9902
E
Interval between birth and first birth inconsistent: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], interval=n 

A respondent's age at the birth of her first child as calculated from the date of her birth (WB3), her current age (WB4), the date of birth of her first child (BH4), and the first child's current age if alive (BH6), cannot be less than a certain minimum age, usually 12 years.  Typically, there are one or two cases in each country where the age at first birth is less than this minimum, but these are very unusual, and most occurrences of this message should be corrected.
Errors in the woman's age at her first birth may arise from three sources:

· The child is not the woman's own (biological) child.

· The respondent's birth date and/or age (3 and 4) are incorrect.

· The birth date and/or age of the first child (BH4 and BH6) are incorrect.

To resolve inconsistencies in the age of the respondent at her first birth, all of the information relating to each of the above items must be examined carefully.  Items which can help indicate whether the child is the woman's own child include the name of the child and their residence and adoption/fostering status as reported in the household questionnaire, and the responses to questions CM5, CM7, and CM9.

If it is clear that the child is not the respondent's own biological child, then its entry should be removed from the woman's birth history, and adjustments should be made to questions CM1 through CM10 accordingly.
If the child is one of the respondent's biological children, then either the first child's date of birth or the respondent's date of birth should be adjusted.  First check to see if the first child's date of birth was before the date of first union.  This may indicate that the child's date of birth is incorrect.
The birth history should be reviewed, especially the interval between the first and second birth (if a second birth exists).  If the interval between these births is large enough to allow the first birth to be moved forward, and it appears that the first child's date of birth is incorrect, then either the month or year (or both) of birth (BH4) should be changed to inconsistent (code 97 or 9997).  If the child’s age is present that may also be changed to 97 as it may constrain the limits in which the birth may have occurred.


EXAMPLE


BH4
BH5

Child 1
03-2002
1


Child 2
05-2004
1


In this example, changing the month of birth of the first child to 97 will allow the program to impute a later month (April through December) depending on the child’s current age.  If the year is changed to 9997 it will essentially impute a date of 03-2003 again considering that the child’s current age permits it.  By changing both the month and year to 97/9997 it will give more room for a valid imputation to take place. Again, the child’s current age (if known) may need to be changed as it provides another constrain at imputation time. 


EXAMPLE


BH4
BH5

Child 1
10-2003
1


Child 2
08-2004
1


In the above example, the second birth does not permit moving the first child's date of birth forward, as there is only the barest minimum of gap between them.  In this scenario, it would seem likely that the respondent's date of birth (and age) has been incorrectly reported, and so the woman's date of birth should be corrected.  Checking the woman's age in the household schedule and her date (age) of first unionmay serve to confirm the inconsistency between the first child's date of birth and the respondent's date of birth.
If it is not possible to find the correct date of birth and age, change the date of birth (and age) of the respondent to be consistent with the sum of the age of her first child (or the number of years since her first birth if the child is dead) and the higher of her age at first union, plus one year.  If there is no information for her age at the time of first union, the age of 16 should be substituted.


EXAMPLES:


1.
DoI
Age
DoB
AgeU
DoU
DoBC
AgeC
DoS



08/2002
27
98/98
16
98/98
98/1982
20
-








98/1994
08


Clearly the date of birth and age of the first child are incorrect.  If the date of birth and/or age of the child are incorrect, change them to the inconsistent code 97/9997.


2.
DoI
Age
DoB
AgeU
DoU
DoBC
AgeC
DoS



08/2002
27
98/98
16
98/98
98/1982
20
-








98/1984
18


In this case, the respondent's date of birth is obviously wrong.  Question WB1, if reported, would be changed to code 97/9997.  The current age of the respondent (WB2) should be changed to 37 (years since first birth (20) + age at first union (16) + one year).

9903
E
Interval between first union and first birth inconsistent: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], interval=n

In most societies, children are usually conceived within marital unions.  This message is generated whenever a child appears to have been conceived prior to the date of the first union.  Although it is clearly not a requirement that children be conceived within marriage, this message is used to try to reduce the number of cases that may be incorrectly categorized as pre-marital conceptions.  It should be noted that, in most countries, it will not be necessary to correct data from this message when there is convincing evidence that the conception of the child took place before the date of first union.
Typically, inconsistencies may arise because of problems in any of the following information:

· The respondent's date of union and/or age at union (MA8 and MA9) are incorrect.

· The first child's birth date (BH4) and/or age (BH6) are incorrect.

· The respondent's own date of birth (WB3) and/or age (WB4) are incorrect.

· The first child is not the woman's own (biological) child.


To resolve inconsistencies between the date of first union and the date of the first birth all of the information relating to each of the above items must be carefully examined.
Follow the procedures outlined in messages 9902 and 9905 to attempt to resolve the inconsistency.  In general, attempts should be made to reduce the incidence of pre-marital births, if not pre-marital conceptions, as it is fairly uncommon for a woman to deliver a child when she is not married, even if the child was conceived outside of a marital union.
However, if it is common/acceptable in the country for a woman to conceive prior to the first union or out-of-wedlock, then leave the responses as they are.

9904
E
Interval between birth or union and later event inconsistent: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], interval=n 

The interval between the birth of the respondent or the date of her first union is too short.
Follow similar procedures as for message 9903.

9905
E
Interval between births inconsistent: child n1: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], child n2: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], interval=n

The interval between births (i.e., the number of months between the date of birth of one child and the date of birth of the next child) must be greater than or equal to 9 months for all births in the birth history.
If the interval between two births is less than 9 months, examine the information on the dates of birth (and ages) for other births occurring before and after the births in question.  The ages recorded in the household listing for all the children in question (HL6) should also be examined, as should information on the dates of immunization (if any) reported for the children 
The following is an example of a birth history in which there is an interval of less than nine months between a pair of births (child 02 and child 03).  The example assumes an interview date of August 2002.

	BHLN
	BH4M
	BH4Y
	BH6

	01
	09
	1997
	04

	02
	03
	2000
	02

	03
	09
	2000
	01

	04
	06
	2002
	00


To resolve the inconsistency between the reported dates of birth for child 02 and child 03 check:


i)
The ages of the children in the household listing.  If the age in the household listing for one child (or both children) is different from the age reported in question BH6, change the age and year of birth for that child to be consistent with the age in the household listing, providing that the corrected age and birth year will yield a more consistent birth interval.


EXAMPLE:  For instance, assuming in the above example, that the household listing shows that child 02 was 3 years old, the age in question BH6 should be changed to 03 and the year of birth to 1999.


ii)
The immunization record (for children under 5 years).  If the immunization record for the children in question indicates that the year of birth for one of the children may have been different from that reported in the birth history, change the year of birth to be consistent with the immunization record.

EXAMPLE:  The immunization record shows that child 02 had a BCG shot in April 2000, child 03 had a BCG shot in October 2002 and child 04 had a BCG shot in July 2002.  Since the pattern of immunizations for both child 02 and child 04 suggests that the respondent in question takes her children to receive the BCG immunization when the children are one month old, it is likely that child 03 was born in 2001, the year in which the BCG immunization was given. Thus, for child 03, the year of birth in question BH4 should be changed to 2001 and the age in question BH6 to 00.

In general, it will not be possible to easily resolve birth interval inconsistencies.  If neither of the birth dates can be corrected, then the month for the later of the two births should be changed to 97, unless the later child's month of birth is late in the year and setting it to 97 will not yield enough of a time difference, or the interval between that birth and a subsequent one is less than 12 months.  In the latter case, the month of birth for the first child in the pair of births for which the interval is too short should be changed to 97.

9906
E
Interval between last birth and later event inconsistent: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], interval=n

9907
E
Interval between events inconsistent: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], interval=n

This message usually relates to inconsistencies between the date of conception of the current pregnancy and the date of interview.  A few messages are produced relating to the date of start of current use and the date of interview.
Use the procedures outlined in messages 9904-9906 to correct the problem.

9918
E
Cannot create gap between events: cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], cmc(n)=cmc-cmc [mm/yyyy-mm/yyyy], interval=n

The minimum interval between two events cannot be maintained in preparation for the imputation of the final dates for these events.  This message is usually accompanied by some other message indicating an earlier error.  The correction of this earlier error will remove this inconsistency and allow the imputation of the final dates.  This message must not appear in the listing for the final imputation run.
As an example, if the dates of birth of two children are reported as 3/1999 and 5/1999 and the minimum interval between the births is 9 months, an earlier message will be generated, but will be accompanied by this error message, indicating that the events are too close together.

9919
E
Minimum and maximum date of event n cross over: cmc=cmc-cmc [mm/yyyy-mm/yyyy]

After all preparation for imputation the minimum and maximum date of an event have crossed over such that the minimum date of the event is now greater than the maximum date of the event.  This message will often be accompanied by message 9918 and an earlier message.  The problem is very similar to that in message 9918 and must always be corrected before the final imputation run.

9920
E
Minimum and maximum date of birth of twins n cross over: cmc=cmc-cmc [mm/yyyy-mm/yyyy]

In the preparation for the final imputation, it is found that the constraints that applied to the date of birth of one twin were in conflict with the constraints that applied to the date of birth of a different twin.  For example, the duration of breastfeeding may apply a constraint on the date of birth of the second twin, while the date of birth of an earlier child places a constraint on the date of birth of the first twin.  These constraints are in different directions and may lead to inconsistencies in the date of birth of the twins.  These inconsistencies must be resolved prior to the final imputation.

9992
E
Unit and number inconsistent; check questionnaire's coding instructions

This error message is for two-part questions in which one part gives the units of the response and the other the number of the response. Correct the number and units to be consistent with the instructions on the questionnaire. For example, question MN25 records how long after birth the child was put to the breast. If the response is longer than 23 hours, it must be recorded in days (MN25U equals 2); otherwise it is recorded in hours (MN25U equals 1). If MN25U equals 1 and MN25N equals 26, it means that the child was first put to the breast after 26 hours. Since this is more than 23 hours, the response should be recorded as 1 day (that is, MN25U equals 2 and MN25N equals 1).

EVENT TABLE

The event table contains a history of the key events in the life of the respondent, including the dates of each event.  The event table is to be used to help resolve problems in the data.  The event table contains the following information:

IX
Index to events

T
Type of event




Female




1
Date of birth of respondent


WB1/WB2


2
Date of marriage



MA8/MA9

3
Date of birth of children


BH4/BH6

4
Current pregnancy
CP1

5
Not used




-

6
Date of interview



WM6M/WM6Y
Ord
Birth order of children in birth history

BHLN
M
Whether birth was a multiple birth


BH2
0 Single birth


>0
Order in multiple births

S
Survival status of child (type=3) or 


BH7
F
Flag for date calculations

1 Month and year reported

2 Month and age reported - year imputed

3 Year and age reported - month imputed

4 Year and age reported - year ignored, month imputed

5 Year only reported - month and age imputed

6 Age only reported - month and year imputed

7 Month only reported - age and year imputed

8 Nothing reported - age, month and year imputed

E
Error.  An "*" appears where there is an inconsistency between date events.

Date
Date given in the mmyyyy format, e.g. 061999 is June, 1999.

CMC
Century month code.  The event table gives the minimum and maximum century month codes for the data of each event.  These will be the same if the date given is complete (i.e. month and year given - code 1 for column F), or there will be a range if either the month or year of the event is not known. 
Entries in the event table will be made in terms of century month codes (CMCs).  The CMC for any event is based on the date of the event (e.g., the respondent's birth) and is calculated by multiplying the year (minus 1900) in which the event occurred by 12 and adding the code for the month in which the event occurred.  Example: cmc of 08/2012 = 12*112 + 8 = 1352.
Int
Minimum interval between events in months.  For example between event type 1 (date of birth of respondent) and type 2 (date of marriage) the minimum interval is assumed to be 120 months (10 years).

Concep
Minimum waiting time between a birth and conception of the next pregnancy, which is assumed to be 2 months.

Age
Death
Age at death for children born alive, who later died.
BH9


The first digit is the unit from


BH9U.



The last two digits are the number in the units from 
BH9N

F
Flag for age at death

Flag

Flag variable for last period.


